2.R1 Whiteboard Review Ch 2 (Spring 2017)-s17 February 16, 2017

P.\J%
) Bqur K-S /3;()
gl YRigert W

oA 4 ax-§

(Qx+ (&M; (e
= (A + Ly "'%{%I)?Ll)r -K
oy Sy
BN Xt <
%ﬁm)i + (ax‘-\B.xa‘S’{
= |Ox™-5x+ ]
R ( avt-ll) (XTI
DXHA 72 ,/Z




2.R1 Whiteboard Review Ch 2 (Spring 2017)-s17 February 16, 2017

AR
0 Pt dip 2, p2p-I2
‘03,\-3,9_35 % *p-aY pep-15

= PHC G- - pta)
KZE NG %<r>+ -3 ers)
= prl |, pra

(f’*)’?)ff)-—S) P-l-j'

= @r0prs) ¥ @r2)(p3llps)
(F+¢)rf«s) ( ‘p+s~\

- L *‘ﬂ*sa‘/ﬁh)ip *tp-5)
peRp-s)prsy

= LA o

/P+1-) (p=s) P+

!
- p3 < AP -
- pitSpYp- kS 445 l.f{—(gr‘{l 3

L Py (pred R ¢

% ¢
§c

Today's Homework Practice includes:

pp. 132-133 #1, 4ac, 6cfg, 7, 8, 9ab, 10bde,
12ac, 13bc, 14cd, 15ce

MCR3UI  Whiteboard Review for Unit 1 Test v Feb.lb/]F
L. Simplify. (3 —2)+(2x” —5x +8)

A
= 3x-2 +ax-3xt?

_ po
— QA - +6
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2. Simplify (3x° —5)* — \(w_ 4)

= QXLLEQK; FAS -—;z)za —9% + L{
— ~~ = - A

—

_ ul
= U 3ax-Sx¢ 429

3. Determine if the following polynomials are equivalent.
Note: What are the two methods? Do they always work?

y =3(x" ~4x+2) ¥, ==2(x" +4x-8)+5(x* +1)~(4x+15)
4= Il ke, 2B SIS - e (S
N = =
Sy = =X~ 46
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4. Simplify each of the following.

2 2.3 2x’ +5xp*
) (2477 0 );y;(cyxy)
:'-éx_mQ 2t3 241-Y (+4-3
- 5X Bl/d £ 40
sy ™
X

5. Factor each polynomial completely.

2 4y —16 b) ab+b* +6a+6b
— () = blath)+ ((atd)
= ¢ (x22) (%) —,/aup)/}ﬁé)

¢) 6x% +5x— 4 d) y* +9-6y - xz?
A
= (=) 3y =YX
4{
) (Y -3 K’
I £
23 /32 ‘:((?"5*)()(7,—3‘(){)
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6. Simplify. 35 —35°

8n° —12n" +4n

= 3n"(n-1)
qn (&hé—sr, 1)
= 3“9("]'()/
((an-n- (X
= 3p2

279 =L
tlh(an-1) = h=a

[0

\

7. Simplify.
x’—4 x*+9x+18

(x+6fx 4-2x
= (z—yf()«— a\ /6({- 67(54 })
= b g
e Y(ckeY 3 (x-2}

= Oe)(x3) )
ey BE
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8. Simplify.
2 2
3x y 2y
+ L2
X 2xy X

9. Simplify.

S5m—n Am® —Amn + n* _ 6m* —mn—n*

2m+n Am* —n? ' 3m+15n
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